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SYSTEMES DE COORDONNEES

Cartésiennes (x,y,2)

Base locale : (&x,6y, €z)

ZA

Position :
OM=T=x6x+y8y+28:
Déplacement élémentaire :
dl=dx & +dy & +dz &,

Surfaces élémentaires :

dS,=dydz dS =dxdz dS,=dxdy

Volume élémentaire :

dt=dxdydz

Cylindriques (p,¢,z)
Base locale (& ,8,8z)

Position :
OM=7=p & +2&:
Déplacement élémentaire :
mmuaow+na69+&mN

Surfaces élémentaires :

dS,=pdodz ; dSe=dpdz ; dS,=p dp do

Volume élémentaire :

dt=pdpdodz

Sphériques (r,6,¢)
Base locale (&, &WV

Z

Position :
OM=f=ré&
Déplacement élémentaire :
dl=dr& +1rdOE, +rsinddo e,
Surfaces élémentaires :

dS =r*sind0de ; dSe=rsinBdrde ;

Volume élémentaire :

dt = r* sin@ dr d6 do
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